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- Document b p.27 shows a schematic representation of a mature Grafian follicle.
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1- The sperm cell and the secondary oocyte have some similarities and some differences.

- Similarities:

Both have the main structures of a cell: cell membrane, cytoplasm and nucleus. 

Moreover, both gametes are haploid.

- Differences:

- The secondary oocyte is a big cell, spherical in shape, not flagellated and immobile.

- The sperm cell is small, elongated in shape, flagellated and mobile.

- The sperm cell survives 48 hours in the female reproductive tract while the secondary 

oocyte lives only 24 hours if there is no fertilization



2- - If fertilization does not take place, the oocyte II degenerates about 

24hours after ovulation, and the  ruptured follicle becomes a corpus luteum 

which degenerates by the end of the cycle.

 - After fertilization, the haploid oocyte II (n) resumes meiosis (equational 

division), release the second polar body and becomes an egg-cell or diploid 

zygote (2n). The ruptured follicle will form the corpus luteum  which remains till 

the third month of pregnancy.





5- During the follicular phase, the cavitary follicle develops and becomes 14 days later a 

mature follicle or Graafian follicle.

Just prior to ovulation, oocyte I, which is blocked at prophase I, resumes the first meiotic 

division and starts the second meiotic division which in turn will be blocked at metaphase 

II. Ovulation takes place at the 14th day; Graafian follicle bursts and releases oocyte II.

During the luteal phase, the raptured follicle becomes the corpus luteum which 

degenerates 14 days late and the oocyte II degenerates about 24 hours after ovulation, if 

there is no fertilization.

If fertilization does take place, the corpus leteum develops and is maintained during the 

first three months of pregnancy. Oocyte II resumes in the pavilion its second meiotic 
division, releases the second polar body and becomes a diploid egg-cell.



Oogenesis Vs Folliculogenesis
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